Quiz 1 Solutions

MATH 2400
June 6, 2012
1. /r\/9—r2dr:
1
/r\/9—r2dr: —5\/adu
1
= —§U3/2+C
1
=3 (9-r)*"+C.

2. Solve the system of equations

Ty =y
2’ +2y* =5

Ty =y
ry—y =20
ylr—1)=0

y:O:>x2:5:>x::i:\/g
x:1$y2:2$y:i\/§

(£V5,0), (1, +v2)

3. Using completing the square, rewrite the equation for the following circle in
standard form:
x® — 4x 4 y* + 18y + 60 = 0.

22 —dr+ 4> +18y+60=0
(x—2)°+ (y+9)>=4+81 - 60
(x—2)+ (y+9)* =5



4. Find the value of 6:

8
X
7
0 | 50°
x
— g ==
" cos -
8
=x = Tcosb
tan (50°)
8
H = -1
cos (7tan (500))



